Ql

SJUaAD

00°05L°L $ jejol
0000} ¢ uewipn dwed
0005C $ Ulaouo) Jo 8aIID
0000, ¢ SpIY 10} YoBd doeq Snyuy
0000 $ s|ed 10} S)0Bd/SPIY JO) $)00g dA
00052 $ uopuanald bniq [00yos vYavoN
000sC $ SISYO
Buing Kueys

L _sesuadx3 |BjoL
_memttmo\mEmot_.thoEmuEm

00°0G€ $ [eoads ‘suid
‘Buuud ‘yseo Anad ‘sdweys ‘sayoun) s)senb--sasuadxe osI
0005 $ SIaMO}} pue s
0005 $ U6 s Jouianos)
000001 $ |00°000°L $ [00') (ted Asjiep) sdiysJejoyog
006G.$ pe Jepuajed ‘A1aI100S 1SIH POOMP|IAA
00°00€ $ (6102 100 J0y) JopeaT koy]
0005 $ 000G $ 00’1 1S9\ Aemdpied ‘qnjQ Aoy
000511 $ .BUInND Ajey
00061 $ 000} $ 00'6l pun4 s,ualpjiyp/uoljepuno |y
009.$ 00V $ 0061 yoealno MHv-ON
0066 $ 006G $ 0061 uoljepuno4 suljjod ed
00°005$ 00°00S $ (J3)197 s,uus|D) pun4 s,uaIpIIYD SjeuIwl]
00¢CE$ 0085$ 00'¥ (Aresouoy 8¢ x ) ses} pue sanQ
00€¥8'L $ 00/6$ 0061 S99} pue san(
SFHUNLIANIIX3I
00°128'G $ awoouj [ejo ]
00°0S$ 000G $ sdiysiosuodg
19¢CLLS 00°00¢€ $ 00°0GL $ 00¢C sAeq jnuead
00°059'1$| Sz$ x99 00196 $ (1L9G$ = 6801$-0G9'L$) SINN }8WINOS
00°000'C $ 6102 JUOIN el
000% SJUBSAT SWO2U| SNOBUE||3OSI
G6°9v$ 00005 $ abeulo) ejeulwi|g pue 05/0S
00°05¢$ 0005C $ 00062 $ (uug|9) uoneuoq J3j|87
00°058°L$ 0009LC$ 000CL$ [o0'8lL 1UB1In0 ‘se8) pue san(
JINODNI
9/L1 ‘Juding ajeuw}sg

8102/9/L L - ALINNININOD AT TIVA DINVUIIN - 61-8L02 1L39dNT TVNNNVY d3S0d0¥dd




